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1 OJo0bOooboobooo

1.1 astropyU O DOOO

gbooopobooboboboooboooooboboooobobobo0ooboobbobOl python
ubooobOobooooboboon

>>> from astropy import constants as const

O00Oastropy DOO0OO00OO constants 00000000 Dconst 00000 (DOODOOODOODO
0000000)000000000000000OOOconstants 00000000000 COOOOOO
OoooooooOoooo0odd pythonOOOO0OoOoOOOOOOOOOODODOOOODODOOOO
co0ooooo0o0oDooooOoooogoooogo

Ub0o0O0o0O0b00000b0000b00O0Oconst.pc0000O0O00O00OO

>>> const.pc
<<class ’astropy.constants.iau2015.IAU2015°> name=’Parsec’ value=3.0856775814671916e+16 uncertainty=

gbbooboooboaboobodibtdlceconstdbo0boobogbDpcbdbbgboaobooanog
UoboobboobioboobOdlastropy.constants 0 000000000000 O0O0OOO0O0OO
oo "booobooor0oobooboobooooooboooboobooobooboobobooooan

>>> const.pc.value
3.0856775814671916e+16

OO0000Ovalue000O0000000O0DOOOOSIDOOODOOOO0O00DOODOCcgsODOODOOO
O0000000 cgsOOOOOODO

>>> const.pc.cgs

<Quantity 3.08567758e+18 cm>
>>> const.pc.cgs.value
3.085677581467192e+18



O00DDO0O00000DDO0O0O0Oastropy.constants 0000000 0O http://docs.astropy.org/en/stable/const
gooooooooo

1.2 J0o0bOooogbobooooon

gooobooobooobooboooo
oo

000000000000000000000000000O00O0Oblack hole shadow) 0000000
0000000 4/10000000000000000000 42uas0000 (pD 10°%: 00000
0) 0000000000000 0000000000O000 40AUOO0ODOOOOODOOOOODOOO
O00M8700000D0 16.8Mpc0000OOM(O0O)=1000

Oo0o000OOMS7TOOOOOO 2lpas 000000000 OOO1AUDOOOOOOOOOOOOOO
oooooboooboobobo -000b0000ooO00obooboobooooobobooboboO00ld numpyd O
0000000000000 00B numpy D00 np 0000000000000 70 np.pi00O0O0O0
U0 np.tan00 000000

>>> import numpy as np
>>> 16.8e6 * const.pc.value * np.tan(np.pi/180 * 21e-6/3600) / const.au.value
352.7999999972359

*
/DDSgrADDDDDDDDDDDD ~

000000000000000000000 A*Sgr A *(star))D000O0OO0OO0OO0OO0OO0OOOOOO
00o00DoDO0o0oOooooooo40000000000000000O00D000OC0O0DOOOOODOO
Event Horizon Telescope D0 0D OOOOOOOODOO

00 MOOODODDOOOODOOOODOOOO0 «0O00:00000000000DOOCO000O0DOC

a=‘°’*f<mDM) - 1)

c2

000 DO0D0O0000DO000D0O000000Sgr A*OOO0OOO DO 85kpedSgr A*ODOODOODO
0000 MO 4x105M, 00000000000000D00 was00000D00O0OO0OOODOOODO
OO00000000000Oastropyd constants const 00 0000000000000 G,00
oooooD 00000 MpOOO0OD0OOO0 const.G.value, const.c.valuelconst.M_sun.value
oooooo

2Synge J.L., Mon. Not. Roy. Astron. Soc., 131, 463 (1966)
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2 matplotlibUUOUOODOMO

UO00O0Opython U U OUOOOOOOOOOOOO spyderddudbgoboooobooabooan
gbooobooboobooboobdpythen 000000000 nDoonDOoOooOOoDOODOO

lnumpy 00000000000 000000000D0000000D000000000000000000O0O0



gobobOoobOooooboooobooobooOooooboooooooobOb0oooboo0oobOddnol
ob0o00o0O0b0o00o0o0obOob0n0g sNmtot V2.0.csv0O0OOO0OOOOOO0OOODOOOOODOO

$ cp ../nol/SN_m_tot_V2.0.csv .

python OO0 0000000000000 O0COO0O0DO0O0O0O0OOmatplotlib000000O00O0O0O0O
gboobobobooobooboobobodibUdmatplotlibl pyplot UODOODOOOOODOOOO
gooobooon

from matplotlib import pyplot as plt

0000 pyplot 0 plt 0000000000000 OOOO

pyplot 00000000000 x0O00 yODOOOOODODOOOOODOOOOOOOOOOOOOOOO
000000000000000000000000 spyder000000000OOOOO (DOOOOO
000000000 0O00oo0o0)

from matplotlib import pyplot as plt
xlist = [0.0, 0.1, 0.5, 0.7, 1.0]
ylist = [1.0, 0.8, 0.5, 0.6, 0.9]
plt.scatter(xlist,ylist)

plt.show()

gbooobooboobooobobooboon

xlist = [0.0, 0.1, 0.5, 0.7, 1.0]
[1.0, 0.8, 0.5, 0.6, 0.9]

ylist

O0O00DO000O00x0y00D000DO0D0DO x1ist], ylistOOOOOOOOOplt.scatter(xlist,ylist)
Oxlist00000ylist 00000000000 O0OO00ODOO0OO0OCOOOO0OO0O000O0O0O0O000O00
OO00O0plt.show() OOOOOODOOOOODOOOODOODO

Uo0o00boo00oboobobbOobid scatter 00000 plot DOODOOO

plt.plot(xlist, ylist)
gooooo

plt.xlabel(’X axis’)
plt.ylabel(’Y axis’)

gbobooboboooobooooboboooooboooo
O

bO00Oscatter 0 plot 0000000000 0DO0OO0O0ODOOOODO0OOODOOOOOO0OO
gboooooboooooboobooogooboan

200000000000000000000000000000 n4000000000000¢testplot.py 10000000
goooooooog



21 CSvUOOoOoboooooobooooo

SNm_tot_V2.0.csvUOUOOO0OOO0O0ODOOOOOO csvOOOOOOoOOoOOOO 300000040
obooobOobOOoooobooooboobooooobooo

e csvobooooooano ~N
i
from matplotlib import pyplot as plt
HHHHH#

# reading data file and create list
datrows = []
exfile = open(’SN_m_tot_V2.0.csv’, ’r’)
line = exfile.readline()
while line:
ltmp = line.rstrip()
datrows.append (ltmp.split(’;’))
line = exfile.readline()

exfile.close

## creating 1D lists of x and y

xlist = []
ylist = []
##

for irow in datrows:
xlist.append(float(irow([2]))
ylist.append(float(irow[3]))

## print the combination of x & y
plt.plot(xlist,ylist)
plt.xlabel(’year’)
plt.ylabel(’Number of sunspots’)
plt.show()




gooobooogn
oboo#0 0000000000000 O000ooO00obo0oo0o0ooonoon

Ub0b000D0datarows DO O " 00000 00000000000 0O0O0O00OO0O0O0O0O0ODOOOO
gbooobooboooobooooo

U000000000000 open DOO0OO0O0OOO0xy 0O000O000DO000O00OOTead onlyddO OO
U0o000O0b00000b0000b00b0000D00 exifileOOOOOOODOOOOOOODOO
ooo

O000 exfileOOOOOODOOOODCHODOOOODODOOOOOOODODOOOOOOODODO
oboo0O0b0o0o0ooobooboobO 1ine00000O0O0O0CODOOOOOO

ogbUibO0ObU0ObObObOOOOObOOOOOObOOOObOOObOObO0ObO0ODOOD0 whileODOODO
ooooobooooboooobooboobooobD0oobD0ooo0obooO0bbO00googb0OOwnile
line :00000000lined00000O0O0C0COOOO0OOOOCOOOOOOODOODOODOODOODOO
O0:000000000000000whileOOOO00 for 00000000000 O0O0O0O0OOOtapOOO
O00000bD0o0n0 pythenODOODOOO

uboooooobdoboboi 1ined0000O0OO0O0OO0O0OD0OODOOOOOOOOOODO0O 1tmp
gbbooboooobobodbpythenODOOOOO0OOODOOODOOOOODOOOOODOOOOODOODOOO
oboooOobOoO00oobO0obo0boOuOb0 rstrip0000000O0ODOOO

python 000000000 ODOOOO0OOOO0OOOOCOOOOODOOOO0ODOOOOOOOOOO
oboboboooboobobbobOoboDb 1ineb000oO0O0oO0OODbDODOOOCOODOO
OO00000000 .rstripO 000000O0DOOCOOOCO0ODODOOODOODO 1tmpDO OO
oooooboog

o000 D1mp 000000000 DOODOO0ODOOOO0ODOODODOOODODOOD sp1it0OO
O01tmp.split(’;)000000OO0D0O0ODOO0ODO0ODOO datrows OO O O0OOODOOOOOOODOO
gooobooboobobboboobioOn datrowsJUOOOO append 00 00000O0O

Jooobbobbooooobobbbboooooubbb sobbboooooobbbo

000000000000 o000000o0o0oobD0000boboOoOUnD clese DOODODOOOOoOO
goood

Uo0o00oo0boobooD x1list, ylist xOy0O 0000000 D0OOOOO0OOOODOOOO

U000b0bobo0b0o0b00bDUl detrows OO OOD0OOODOOODOODO x1ist, ylistO OO
O000000OOaeppend 000000 0OODOOOO0OOO datrows OO OODOOOOOOODOODOO
00000000000 for 00000000 0OMOfor i in datrows: O0O0O0O0OOdatrows OOOO
00000 ijrowd D000 00OO0OOOOOOOOOO

00000000 irowdOODOOOO (pythonODO0D0OOD0OOO0OCOODOOOODOODOOOCOODO
goog (Qo.7s0 00000 .Mm7MsO000000) ) irow[2] 0 float OO ODOOOOODOOOO
Uboo0b0obopDooobDob xlistU append 0000000000000 0O000O000OOOOD0OO0OO
Ub00d0python DO ODODOODOOOOODOOODODOODOOO

2.2 pythonUUOUOODODO

python 0000000000 OO0COOOOOOOOOO



def Teff(D,A):
import numpy as np
from astropy import constants as const
return (const.L_sun.value * (1-A)/(16 * const.sigma_sb.value \

* np.pi * (D* const.au.value)**2))*x0.25

000000 Teff 00000 def0000O0OOO0OOD, ADODOODOOOOO0OO tabODOOODOOO
0000000000000 00b0000000000 numpy O astropyU 00000 O0OOOOOO
OO00000D0O00000O0O return D000 O0OD0OO0OOCOODOOOOOODOOODODOOONO
gboooboooboobooboobooboobbbooboobobboboobooo

uboabouaboogobgooabood
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